

WINE	Vintage	CASE SIZE	BOTTLE	CASE
<b>ARGENTINA</b>				
<b>ACHAVAL FERRER / Mendoza</b>				
<i>Gardians of a legacy; centennial vines own-rooted, pre-filoxera</i>				
Achaval Ferrer Mendoza Malbec	2022	12	\$ 35.95	\$ 431.40
Achaval Ferrer Mendoza Cabernet Sauvignon - <i>March</i>	2021	12	\$ -	\$ -
Achaval Ferrer Quimerino Blanco	2024	6	\$ 38.95	\$ 233.70
<b>AUSTRALIA</b>				
<b>BARR-EDEN ESTATE / Eden Valley</b>				
<i>High Altitude vineyard on Mengler's Hill. Tiny production, exceptional wine</i>				
Dreams of Gold Eden Valley Shiraz - <i>RP 93 points</i>	2023	12	\$ 47.95	\$ 575.40
<b>ITALY</b>				
<b>TOLAINI / Tuscany</b> 				
<i>Castelnuovo Berardenga, Pier Luigi Tolaini's world class IGT's &amp; Classico's</i>				
Tolaini Al Passo Toscana IGT - <i>HVC, AG 94 points</i>	2021	6	\$ 39.95	\$ 239.70
Tolaini Valdisanti Toscana IGT - <i>WS 94 points</i>	2021	6	\$ 59.95	\$ 359.70
Tolaini LEGIT Toscana IGT	2021	12	\$ 51.95	\$ 623.40
Tolaini Chianti Classico Gran Selezione DOCG - <i>May</i>	2021	6	\$ -	\$ -
Tolaini Picconero Toscana IGT - <i>JS 95 points</i>	2020	6	\$ 156.95	\$ 941.70
<b>DONNA LAURA / Tuscany</b> 				
<i>Pure and expressive wines from the heart of Tuscany</i>				
Donna Laura Ali ROSATO Toscana IGT	2024	12	\$ 23.95	\$ 287.40
Donna Laura Ali Rosso Toscana IGT - <i>HVC</i>	2024	12	\$ 19.95	\$ 239.40
Donna Laura Bramosia Chianti Classico DOCG - <i>HVC</i>	2023	12	\$ 24.95	\$ 299.40
<b>PALA / Sardinia</b> 				
<i>3rd generation family owned, organic winery on the island of Sardinia</i>				
PALA Soprasole Vermentino di Sardegna	2023	12	\$ 26.95	\$ 323.40
PALA Cannonau Riserva	2021	6	\$ 41.95	\$ 251.70
<b>DIPINTI / Trevensie</b>				
<i>Clean, affordable refreshingly unoaked whites from Northern Italy</i>				
DIPINTI Pinot Grigio Vigneti della Trevenzi - <i>HVC</i>	2024	12	\$ 19.95	\$ 239.40
DIPINTI Savignon Blanc - <i>HVC</i>	2024	12	\$ 19.95	\$ 239.40
<b>CANTINA TERLANO / Alto Adige</b> 				
<i>Northern Italy circa 1893 - some of the top white wines from Italy</i>				
Cantina Terlano Alto Adige Pinot Grigio - <i>April</i>	2024	12	\$ -	\$ -
Cantina Terlano Alto Adige Chardonnay	2024	12	\$ 37.95	\$ 455.40
Cantina Terlano Alto Adige Gewurztraminer - <i>sold out</i>	2024	6	\$ -	\$ -
Cantina Terlano QUARTZ Sauvignon Blanc - <i>RP 94</i>	2023	6	\$ 119.95	\$ 719.70
<b>MUSSO / Piedmont</b>				
<i>Family owned winery, circa 1929 - hand made, true expression of terroir</i>				
MUSSO Langhe Pinot Nero	2022	6	\$ 48.95	\$ 293.70
MUSSO Barbaresco DOCG 'Pora'	2022	6	\$ 83.95	\$ 503.70

**CA'VIOLA / Piedmont***Beppe CaViola 'King of Dolcetto' Enologist of the Year - Gambero Rosso*

				<b>Bottle</b>	<b>Case</b>
Ca'Viola 'Clem' Riesling DOC	2023	6	\$ 50.95	\$	305.70
Ca'Viola 'Bric du Luv' Barbera d'Alba DOC	2023	6	\$ 62.95	\$	377.70
Ca'Viola 'Sirena' Langhe Arneis - <i>March</i>	2023	6	\$ -	\$	-
Ca'Viola 'Barturot' Dolcetto d'Alba	2023	6	\$ 44.95	\$	269.70
Ca'Viola 'Caviot' Barolo DOCG	2021	6	\$ 76.95	\$	461.70

**RIVETTO / Piedmont***Enrico Rivetto - First certified Biodynamic winery in Piedmont*

				<b>Bottle</b>	<b>Case</b>
RIVETTO Langhe Nebbiolo - <i>March</i>	2023	6	\$ -	\$	-
RIVETTO 'Nervo' Barbaresco DOCG - <i>March</i>	2021	6	\$ -	\$	-
RIVETTO Barolo del Comune di Serralunga DOCG - <i>March</i>	2021	6	\$ -	\$	-

**NOVAIA / Valpolicella***Historical organic winemaking family, in Valpol since the 15th century*

				<b>Bottle</b>	<b>Case</b>
Novaia Ripasso Classico Superiore DOCG	2022	6	\$ 45.95	\$	275.70
Novaia Corte Vaona Amarone della Valpolicella	2019	6	\$ 81.95	\$	491.70

**GIACOMO RADICA / Abruzzo***3rd generation family winery, organic, fresh and beautiful.*

				<b>Bottle</b>	<b>Case</b>
Giacomo Radica Montepulciano D'Abruzzo	2021	12	\$ 27.95	\$	335.40
Giacomo Radica Pinot Grigio IGT Terre di Chieti	2024	12	\$ 27.95	\$	335.40

**NIC TARTAGLIA / Abruzzo***10ha boutique producer making modern, fresh and balanced wines*

				<b>Bottle</b>	<b>Case</b>
Nic Tartaglia Pecorino Terre d'Abruzzo, IGT	2024	12	\$ 28.95	\$	347.40
Nic Tartaglia Cerasuolo d'Abruzzo DOC	2024	12	\$ 28.95	\$	347.40
Nic Tartaglia iO Silvia della Mura Montepulciano	2017	6	\$ 72.95	\$	437.70

**CANTINE BIRGI / Sicily***The essence of Sicily - DOC Sicilia founded in 1960*

				<b>Bottle</b>	<b>Case</b>
Birgi Vini Kalura Grillo DOC Sicilia - <i>February</i>	2024	6	\$ -	\$	-
Birgi Vini Kalura Nerello Mascalese DOC Sicilia - <i>February</i>	2023	6	\$ -	\$	-

**TENUTE VECCHIO / Mt.Etna, Sicily***3 generations on the Northern slope of Mt.Etna - 800m (2,600 ft) ASL*

				<b>Bottle</b>	<b>Case</b>
Nerello Mascalese Vossignoria DOC - <i>sold out</i>	2022	6	\$ -	\$	-
Etna Bianco DOC - <i>sold out</i>	2024	6	\$ -	\$	-
Etna Rosato DOC	2024	6	\$ 58.95	\$	353.70

**BIANCA VIGNA / Prosecco***30ha of organically produced DOCG & DOC Prosecco*

				<b>Bottle</b>	<b>Case</b>
BiancaVigna Prosecco DOC Brut	NV	12	\$ 23.95	\$	287.40

**BARONE PIZZINI / Franciacorte***Founded in 1870, first to produce Franciacorte w organically farmed grapes*

				<b>Bottle</b>	<b>Case</b>
Barone Pizzini 'Animante' Dosaggio Zero	NV	6	\$ 66.95	\$	401.70

**FRANCE****CHAMPAGNE LEGRAS & HAAS***Chardonnay dominant growers. Champagne in Grand Cru Chouilly*

				<b>Bottle</b>	<b>Case</b>
Legras & Haas Grand Cru, 'Visions' Blanc de Blancs	NV	6	\$ 97.95	\$	587.70

**DOMAINE DES MALANDES / Chablis***Historical organic winery with 29 ha of vines in Chablis. Freshness & Finesse*

				<b>Bottle</b>	<b>Case</b>
Domane des Malandes Chablis	2023	6	\$ 61.95	\$	371.70
Malandes Grand Cru LE CLOS Chablis - <i>sold out</i>	2023	6	\$ -	\$	-

## DOMAINE JEAN DAUVISSAT / Chablis

*Fabian Dauvissat's Chablis 1er Cru, Petit Chablis, and Chablis*

				<b>Bottle</b>	<b>Case</b>
Jean Dauvissat 1er Cru Montmain Chablis - <i>in lab</i>	2023	6	\$ -	\$ -	-

## PIERRE MEURGEY / Cote d'Or, Burgundy

*Pierre Meurgey - fourth generation, passionate burgundian winemaker*

				<b>Bottle</b>	<b>Case</b>
PM Beaune 1er Cru Les Vignes Franches	2018	6	\$ 109.95	\$ 659.70	
PM Pommard 1er Cru les Grands Epenots	2018	6	\$ 199.95	\$ 1,199.70	
PM Corton Charlemagne Grand Cru	2022	6	\$ 644.95	\$ 3,869.70	
Meurgey-Croses Macon Uchizy	2022	6	\$ 42.95	\$ 257.70	

## DOMAINE GERARD SEGUIN / Gevrey-Chambertin

*Passionately growing vines, and making wine for 3 generations*

				<b>Bottle</b>	<b>Case</b>
Domaine Gerard Seguin Gevery Chambertin les Crais - <i>sold out</i>	2023	6	\$ -	\$ -	-
Domaine Gerard Seguin Chambolle Musigny 'Derriere le Four' - <i>sold out</i>	2023	6	\$ -	\$ -	-

## MAISON A GOICHOT / Beaune, Burgundy

*Family owned negociant and wine growers since 1947*

				<b>Bottle</b>	<b>Case</b>
L'Envole Pays DOC Chardonnay	2024	12	\$ 24.95	\$ 299.40	
L'Envole Pays DOC Pinot Noir	2024	12	\$ 24.95	\$ 299.40	
Chateau du Cray Bourgogne Pinot Noir	2022	6	\$ 57.95	\$ 347.70	
Chateau du Cray Bourgogne Aligote - <i>sold out</i>	2022	6	\$ -	\$ -	-

## JONATHAN DIDIER PABIOT / Pouilly-Fume, Loire

*20ha benchmark producer in the Loire - certified biodynamic*

				<b>Bottle</b>	<b>Case</b>
Jonathan Didier Pabiot Pouilly-Fume 'Leon'	2023	12	\$ 68.95	\$ 827.40	

## DOMAINE DES CHASSEIGNES / Sancerre, Loire

*small 9 hectare family-owned estate, making mineral driven Sauv Blanc*

				<b>Bottle</b>	<b>Case</b>
Domaine des Chasseignes Sancerre	2023	6	\$ 58.95	\$ 353.70	
Domaine des Chasseignes Sancerre 'Les Chasseignes'	2023	6	\$ 80.95	\$ 485.70	

## CHATEAU TOUR CALON / Montagne St.Emilion

*Organic 4th generation family estate in Montagne Saint-Emilion - 1897*

				<b>Bottle</b>	<b>Case</b>
Chateau Tour Calon St Emilion - <i>end February</i>	2019	6	\$ -	\$ -	-
Chateau Tour Calon St Emilion - <i>375ml</i>	2019	12	\$ 27.95	\$ 335.40	

## CHATEAU PONZAC / Cahors

*29ha, of AOC Cahors, Modern, elegant and organic*

				<b>Bottle</b>	<b>Case</b>
Chateau Ponzac 'Maintenant ou Jamais' Malbec - <i>May</i>	2023	6	\$ -	\$ -	-

## DOMAINE GARDIES / Côtes du Roussillon

*8 generations of organically farmed vineyards in the south of France*

				<b>Bottle</b>	<b>Case</b>
Mas las Cabes Blanc, Côtes du Roussillon	2023	6	\$ 36.95	\$ 221.70	
Mas las Cabes Rouge, Côtes du Roussillon - <i>sold out</i>	2023	6	\$ -	\$ -	-
Domaine Gardies Les Milleres Rouge	2022	6	\$ 47.95	\$ 287.70	
Domaine Gardies Les Glacieres Blanc	2022	6	\$ 47.95	\$ 287.70	

## DOMAINE DELHOME / Crozes-Hermitage, Rhone

*10ha, North Crozes. Under organic conversion. A new domaine since 2019*

				<b>Bottle</b>	<b>Case</b>
Delhome Crozes Hermitage Blanc, Marsanne	2023	6	\$ 49.95	\$ 299.70	

## CHATEAU VIGNELAURE / Provence

*55 ha in AOC d'Aix en Provence. Pioneer of Cabernet Sauv in Provence*

				<b>Bottle</b>	<b>Case</b>
Chateau Vignelaure Rouge AOC d'Aix en Provence - <i>4 cases left</i>	2017	6	\$ 60.95	\$ 365.70	

## ROSE GOLD / Provence

*Just north of Saint Tropez, beautifully aromatic complex Rose*

				<b>Bottle</b>	<b>Case</b>
Rose Gold AOP Cotes de Provence Rose 	2024	12	\$ 29.95	\$ 359.40	

**SPAIN****PROPIEDAD DE ARINZANO / Navarra***A thousand years of mystery - Spain's oldest operating winery. Est. 1055*

				<b>Bottle</b>	<b>Case</b>
Arinzano Hacienda Tinto Vin de Pago	2020	6	\$ 37.95	\$	227.70
Arinzano Gran Vino Tinto Vin de Pago	2018	6	\$ 164.95	\$	989.70

**PORTUGAL****QUINTA DAS CARVALHAS / Douro***Est 1759 - left bank Douro. One of the most iconic estates in the region*

				<b>Bottle</b>	<b>Case</b>
Quinta das Carvalhas Tinto Douro DOC	2021	6	\$ 31.95	\$	191.70
Quinta das Carvalhas Touriga Nacional Douro DOC	2022	6	\$ 39.95	\$	239.70

**GERMANY****BASSERMANN-JORDAN / Pfalz***A historical winery in the Pfalz, making true wines of terroir*

				<b>Bottle</b>	<b>Case</b>
Bassermann-Jordan Spatburgunder trocken	2022	6	\$ 46.95	\$	281.70

**NEW ZEALAND****te Pa / Marlborough, NZ***Māori heritage, on this land for 800 years. SB & PN from Marlborough*

				<b>Bottle</b>	<b>Case</b>
Koha Marlborough Sauvignon Blanc	2024	12	\$ 22.95	\$	275.40

**OREGON - on hold, until further notice...****MAISON NOIR / Dundee, Oregon***Sommelier Andre Mack, crafting innovative delicious Oregon wine*

				<b>Bottle</b>	<b>Case</b>
Maison Noir Knock on Wood Chardonnay	2022	12	\$ 45.95	\$	551.40
Maison Noir In Sheep's Clothing Cab Sauv	2022	12	\$ 41.95	\$	503.40
Maison Noir OPP Pinot Noir	2023	12	\$ 41.95	\$	503.40

**ELK COVE / Willamette Valley, Oregon***Family owned, iconic Willamette winery - Oregon pioneering family*

				<b>Bottle</b>	<b>Case</b>
Elk Cove Willamette Valley Pinot Gris - <i>on order...</i>	2023	12	\$ -	\$	-
Elk Cove Willamette Valley Pinot Noir - <i>on order...</i>	2023	12	\$ -	\$	-

**PURPLE HANDS / Willamette Valley, Oregon***Cody Wright, boutique, complex site specific Pinot Noir*

				<b>Bottle</b>	<b>Case</b>
Purple Hands Lone Oak Ranch Pinot Noir - <i>sold out</i>	2022	12	\$ -	\$	-

**CALIFORNIA - on hold, until further notice...****STONESTREET ESTATE VINEYARDS / Alexander Valley, Sonoma California***High altitude mountain wines of unbelievable quality on Alexander Mountain*

				<b>Bottle</b>	<b>Case</b>
Stonestreet Estate Chardonnay - <i>sold out</i>	2020	6			
Stonestreet Estate Cabernet Sauvignon - <b>WE 94</b>	2018	6	\$ 125.95	\$	755.70

**MAGGY HAWK / Anderson Valley, California***Sarah Wuethrich, site specific Pinot Noir in the 'Deep End' of Anderson Valley*

				<b>Bottle</b>	<b>Case</b>
MAGGY HAWK 'Jolie' Anderson Valley Pinot Noir	2021	6	\$ 155.95	\$	935.70

**EMBROIDERY WINES / Paso Robles & Monterey County***Delicious and Affordable California Wines*

			<b>Bottle</b>		<b>Case</b>
Embroidery Paso Robles Cabernet Sauvignon	2022	12	\$ 29.95	\$	359.40

**CLOS DE NAPA / Napa Valley, California***Classic Napa Valley Cabernets, rich, concentrated and approachable*

			<b>Bottle</b>		<b>Case</b>
Clos de Napa, Napa Valley Cabernet Sauvignon	2022	12	\$ 57.95	\$	695.40

Banville Wine Merchants delivers 5 days a week in the Toronto area. Outside of the GTA delivery routing schedules vary 1-2 times per week depending on region. Pricing listed above is per bottle and case. Case size is noted to the left of the bottle price. All prices include the LCBO taxes and markup, as well as our agency fee. Prices quoted above do not include HST (13%) or the refundable bottle deposit (\$0.20 per bottle). We are not permitted to sell beverage alcohol but may facilitate for purchases from the LCBO on the customers behalf.